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Pre-Calculus Review Test #2
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Given the following polynomials perform the indicated operation:

7(x)=2x-7 g(x)=4x’+2x-3 h(x)=4x"—6x" +2x i(x)=2x

4 h(x)

(%)
f(x+h)—_/‘(.\')-

h

a. g(x)+h(x) b. h(x)—g(x) c. [(x)g(x)

h#0

Find the difference quotient in simplest form for each function.

a. f(x)=3x+1 b. f(x)=2x"-3x+5

Given f(x) find /7' (x):

a. f(\‘)=3\ +35 h. g(_\-):i/a.;_() c. !?(.\')2%.\‘-—-%

Determine the domain and range for each of the function below (express iJl interval notation):
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6. TFactor Completely:

a. 8x' +27xy b. 6x' —11x" =10 c. 10x" =5x—6x+3 d. 4x'—13x+9 %

7. Expand the binomial:

. (?__\'—_1’)i b. (3{:2 +2b° )'l

8. Find the nehierm:

4th term last term middle term

HE f [J T e y
1 (.\A_g'l-)J (3.\'2 + 2_)*') ‘ (_\'~3_;P)r

9. Given the functions find the indicated composition:

j‘(.'-:)=3_t+5 g(.\')=2x+1 ) f(x)=x-5 K(l’)=2.\'2+3x—4
a. ;
7(2(x) (go/)(x)
10. Solve each equation using the indicated procedure and express in simplest radical form: @

Complete the Square Quadratic Formula

23— 16x+8=0 X —2x=5
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